PGT Geography

Q 1). Which Indian state is planning to launch a massive jungle safari project in the Aravalli
Hills, aimed at promoting eco-tourism and sustainable development?

(A) Rajasthan

(B) Gujarat

(C) Madhya Pradesh

(D) Haryana

Correct Answer: (D)

Q 2). Prime Minister Modi had accorded a ceremonial welcome during his recent visit to
Croatia at

(A) St. Mark’s Church

(B) Croatian Parliament

(C) Banski Dvori Palace

(D) Zagreb City Hall

Correct Answer: (C)

Q 3). Which of the following countries were recently elected to serve as a non-permanent
member of the UN Security Council for a two-year term starting in January 20267

1. Bahrain, Colombia, Latvia

2. Indonesia, Sri Lanka, Vietnam

3. Liberia, The Democratic Republic of Congo

(A)1,2&3

B)1&3

(C) Only 2

D)1&2

Correct Answer: (B)

Q 4). “How many characters are there in the story?” This question is of level as per
the revised Bloom’s Taxonomy.

(A)remembering

(B) evaluation

(C) understanding

(D) application

Correct Answer: (A)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior.

(B) Praising a child for completing homework.

(C) Removing TV privileges for poor grades.

(D) Ignoring a child's tantrum.

Correct Answer: (B)
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Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)

Q 7). Which of these two rivers form the boundary of Assam Himalayas?

(A) Sindhu & Satluj

(B) Tista & Dihang

(C) Kali & Tista

(D) Satlyj & Kali

Correct Answer: (B)

Q 8). Which state has the largest wind farm cluster?

(A) Gujarat

(B) Maharashtra

(C) Tamil Nadu

(D) Kerala

Correct Answer: (C)

Q 9). The plain formed from the old alluvium is called

(A) Khadar

(B) Terai

(C) Bhangar

(D) Delta

Correct Answer: (C)

Q 10). Which is not used to measure the Human Development Index?

(A) Literacy Rate

(B) Per Capita Income

(C) Life Expectancy

(D) Social Status of the People

Correct Answer: (D)

Q 11). Which one of the following is the world’s richest regions from a marine biodiversity
perspective, comprises 21 islands with estuaries, beaches, forests of the near shore
environment, sea grasses, coral reefs, salt marshes and mangroves?

(A) Gulf of Mannar Biosphere Reserve

(B) Nanda Devi Biosphere Reserve

(C) Sunderbans Biosphere Reserve

(D) Nilgiri Biosphere Reserve

Correct Answer: (A)
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Q 12). Which of the following soils contain a large proportion of sodium, potassium, and
magnesium?

(A) Forest Soil

(B) Usara Soil

(C) Yellow Soil

(D) Laterite Soil

Correct Answer: (B)

Q 13). Why agri-business farms are mechanised and large in size?

(A) They are commercial in nature.

(B) They are meant for small community.

(C) They are primitive in nature.

(D) They are non- profitable.

Correct Answer: (A)

Q 14). Which river pattern is formed when the river flows out of the mountain and flows in
all directions?

(A) Rectangular pattern

(B) Radial pattern

(C) Dendritic pattern

(D) Arrowhead pattern

Correct Answer: (B)

Q 15). Which is the program related to the objective of global sustainable development?

(A) Montreal protocol

(B) Agenda - 21

(C) Earth Summit

(D) Project tiger

Correct Answer: (B)

Q 16). Who amongst the following was the first to consider the possibility of Europe, Africa
and America having been located side by side?

(A) Alfred Wegener

(B) Antonio Pellegrini

(C) Abraham Ortelius

(D) Edmond Hess

Correct Answer: (C)

Q 17). On the basis of earthquake waves, the correct order of the layer found in the interior of
the earth from top to bottomis .

(A)Lithosphere — Barysphere — Pyrosphere

(B) Barysphere — Lithosphere — Pyrosphere

(C) Lithosphere — Pyrosphere — Barysphere

(D) Pyrosphere — Lithosphere — Barysphere

Correct Answer: (C)
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Q 18). Which of the following scale would be appropriate for making the cadastral map of a
village?

(A) 1:25000

(B) 1:50,000

(C) 1:2,50,000

(D) 1:4000

Correct Answer: (D)

Q 19). What is infant mortality rate?

(A) The number of deaths of children under the age of six years per thousand of the
population.

(B) The number of deaths of children under the age of three years per thousand live births.

(C) The number of deaths of children under the age of five years per thousand of the
population.

(D) Number of deaths of infants under one year of age per thousand live births.

Correct Answer: (D)

Q 20). Read the case study given below and answer the questions that follow:
India has one of the second largest road networks in the world with a total length of about

56 lakh km (Annual Report 2017-18). About 85 per cent of passengers and 70 per cent of freight

traffic are carried by roads every year. Road transport is relatively suitable for shorter distance

travel. Road transport in modern sense was very limited in India before World War-II. The first

serious attempt was made in 1943 when ‘Nagpur Plan’ was drawn. This plan could not be

implemented due to lack of coordination among the princely states and British India. After

Independence, twenty-year road plan (1961) was introduced to improve the conditions of roads

in India. However, roads continue to concentrate in and around urban centres. Rural and remote

areas had the least connectivity by road. For the purpose of construction and maintenance,

roads are classified as National Highways (NH), State Highways (SH), Major District Roads

and Rural Roads.

The main roads which are constructed and maintained by the Central Government are known
as .

(A) National Highways

(B) State Highways

(C) District Roads

(D) Rural Roads

Correct Answer: (A)
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